KENDRIYA VIDYALAYA SANGATHAN
SESSION ENDING EXAMINATION-2023-24

CLASS — XI
SUB: ECONOMICS(030) /3712ITET (030)

Time allowed: 3 Hours Maximum Marks: 80
General Instruction:

i

ii

iii

All the questions in both the sections are compulsory. Marks for questions are indicated against each
question.

Question number 1 - 10 and 18 - 27 are very MCQ questions carrying 1 mark each. They are required
to be answered in one word or one sentence each.

Question number 11 - 12 and 28 - 29 are short-answer questions caring 3 marks each. Answers to
them should not normally exceed 60-80 words each.

iv  Question number 13 - 15 and 30 - 32 are also short-answer questions carrying 4 marks each. Answers
to them should not normally exceed 80-100 words each.

v Question number 16 - 17 and 33 - 34 are long answer questions carrying 6 marks each. Answers to
them should not normally exceed 100-150 words each.

vi  Answer should be brief and to the point and the above word limit be adhered to as far as possible.

Ay fAder:

i Ycdch YUS oh AT I%T HATAAI g | Tcdoh YR oh TUTRd 3oh 3Hh HTHA [T T 7 |

i 9T &IAT 1-10 3R 18 — 27 MIGCEERNEY SgIdhedld 9% &, Ycdoh %I 1 3ch hl g | Ucdh
T 3R T AT/ eee A faam Sirer = |

i YR FEAT 11-12 3R 28 — 29 THITIA YR &, Hcdeh YR 3 3eh &l & | Fedeh bl I ATHTI:
60-80 2real & 37T w7gT §lell TR |

iv I {EAT 13-15 3K 30-32 WWHE Jcdch 9T 4 3oh T g | Fcdoh bl 3L HIHATI:
80-100 ree} & TR +AET gl =T |

v 9T HEAT 16-17 3 33-34 T AT IR &, Ycdeh UReT 6 37eh &bl & | cdeh bl 3N HIHI:
100-150 2real ¥ 37TTeeh g1 glelr =1fay |

Vi 3T HI&TCd AT JAT JH s ATAT H gl AT |

us -3 : 3ATEH & v Aiegh
SECTION - A: STATISTICS FOR ECONOMICS
1. Read the following statements carefully: 1

Statement 1 — Quota sampling is a type of non probability sampling method.
Statement 2 — Under Quota sampling, the items of the universe are divided into various groups
and then quota is fixed.
In the light of the given statements, choose the correct alternative from the following:
(a) Statement 1 is true and statement 2 is false
(b) Statement 1 is false and statement 2 is true
(c) Both statements 1 and 2 are true
(d) Both statements 1 and 2 are false.
fAFATT @ FY=T 1 &1t | 9e:

HYeT 1- PIT IfdaTd Teh YR T IR THTIAT Ifdaa=T AT gl
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DYl 2 - FICT YTATTeT & TEd STAHEIT bl TEI3N 1 TATHeT HHGT H TIHATNSTT Th AT STl
& 31T T e a3 forar Srar § |
U 7T FUHAT & Mol H, FeaATa@d & F HgT [Ashed &1 aIe HIfAT:;

(@) FHYT1TTE IR FUA 2 AT G |

(b) FUT1ITATE IR FUT2TTE |

(c) FUT13IR28ITE |

(d) FUT13iR23AT I TTE
There are two statements given below, marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option.
Assertion (A) : Primary data are original.

Reason (R) : Primary data are collected from the source of origin.

Alternatives:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A)

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertion (A)
(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) i 1s true.
YU : YTUTAS 33 dTEATdh

$HROT: Waﬁmm?ﬁémﬁﬁuﬁﬁﬁwaﬁﬁl

ey :
(a) 3T (A) Td HROT (R) Gl FEl g Td HROT (R) TR (A) T Hgl sAT&AT§ |
(b) 3TfHFYA (A) Td FHRUT (R) ST Hel & U RUT (R) fHFUA (A) I Hel <Iream 161 g |
(c) THFRYA (A) TET & SHfeheT HROT (R) AT § |
(d) 3TAFU (A) T & AT FROT (R) TETE |
Arithmetic mean of a series is affected by the ............... (lower/extreme) values of the series.
Fill up the blank with correct answer) .
ST T JhITOTATT HATET HWAT & ............ (Frarel/aRa#) AT | gefad glar g |
(aﬁrmasmarﬁaﬂw )
Which method is used to calculate mode?

(a) Inspection (b) Grouping

(c) (a) & (b) both (d) None of the above
qsm*@rdlumlﬁmﬁﬁr AR ?

(a) ferdretor (b) FHEIHIOT

(d) (T) 3R (&) gt (d) 3IRIFT H ¥ HIS 8T
Define correlation.

TEHEE T IRATIT T |
The correlation between price of a car and demand of a pen is :

(a) Positive (b) Negative (c) Zero (d) None
T T AT TF U7 T ATIT A FIT T Teaer g ? ‘

(a) UaTTcHS (b) FOTcHS (c) T (d) IS T&T
“Graphic location of........... is done through Cumulative Frequency Curve or Ogive.”
This statement is valid for —

(a) Mean (b) Median (c) Mode (d) None of above
i, T I ftheh AT HerY AT Tk AT NS o ATCTH F AT ST §- | T FUT
g AT AT ¢ - .

(a) ATET (b) FTTEZHT o(;)laﬁaaﬁ (d) TS TET

If the value of Median is 20 and the value of Mean is 24, calculate value of Mode.
gie AT 20 T ATEY 24 %’Fﬁdgo{ch ATT T |
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9

Read the following statements-

A. Diagrams simplify data.
B. Diagrams are useful in making comparison.
C. Bar diagram is a two dimensional diagram.
D. Histogram is helpful in finding median.
Which of above are correct?

(@1 &ll (b) 1, II&III e L1 1&IVv ()1, m&iIv
IGESICITCG T :
. méaaﬁwamﬁﬁl
II. 3IRE JoleTT et H 39N g 2
Il 3 3 veh gfafde i s B
V. 3 R ATfeTehT AT et 7 TgTIeh 8o &
39Fd H H hleT TET 872

(@&l (b) I, 11 & 11 LI &IV () 1, m&Iv

Width of bar diagram need not to be equal. True/False.

&3 R &I TIZS SRS 76T gleil AT | T/ Ield

10 When we want to classifying the data in the numerical term, which method of

1.

classification of data is used?

(a) Qualitative classification (b) Quantitative classification

(c) Chronologlcal classification (d) Geographlcal classification

ST & THD! I HEIIcHS & H qafiehcd =T ATe ol GHeh Jaiiehor i foret fafer s
w2t foRaT ST B2

(a) IUTcH® FIfehIUT  (b) ATATcHD FaNRIT (C) HTcllalshideh afiehvT (d) sitanireh

Read the following passage carefully-
The census of India provides most complete and demographic record of population.
The census is being regularly conducted every ten years since 1881.The census
officials collect information on various aspects of population such as size, density, sex
ratio literacy etc. The data collected is useful in determining tendencies in density of
population, literacy rates, infant mortality rate, sex ratio etc. census data is interpreted
and analysed to understand many economic and social issues in India.
Answer the following questions based on above passage-

A- Which method will be used to collect the data in the above passage?

B- Write any two uses of data collected under census of India?
frFafafaa areamer @ eareT & afeu-
HRT T ST STATEAT hl Tl GUT 3R STAHITETRIA RS TaTed el g1 STeTarored]
1881 ¥ & a¥ Tl & A w9 & IS H s @ R SAIOTAT AP FeFHEAT
T Tge3it SIeY 3R, Eeed, foiaT 3eTUTeT HIATAT 3Tie IR STeTeh T Tehe el ¢ | Teh
f3RT I 3T SATHEAT Teled, maawaﬂf\raraﬁrqaﬁrﬁm‘rﬁ?raﬂﬁ#mﬁ% AR A
aéaﬁ%aﬂ?wmmﬁwa:ﬁuma fofaT 31eToTer 3nfY STFeTOTar &
ToRaT ST e 3R [A2aror fhar Jrar £
IR IS F YR W fAerafaf@a geat & 39 §ifSe-
A- 3RS IRTSE H 373 Tehd Flel oh ToIT fohd AT T 3TINET foham STTa?
B- 3R T STT9TUTST & 3731 Tehiad 37Tehsl & ahls &l 3UeT faf@w |
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14
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16

17

Discuss the main points of difference between primary and secondary data.
T A 3R gfaciae 31mehs & o AR & 7T TSt o o= Y|
OR /31Yar

Which method of data of collection has got a mention in above picture? Give merits
and demerits of this method.

SRkl TIF & 3Tenst & HgoT T fohdt Tafer a1 Torsh foham aram 82 38 faf®r & o1 3R I
CEIEN

What do you mean by ‘index number’? Discuss the main limitations of construction of
index number.

HIchich AT & ? Fachich HATUT S HET HHATHT T saredr Y|

Calculate mean of the given data:
& 91T HTehs & ATET T 0T A |
Wage Rate Below 20 20-40 40-60 60-80 80 and
above
No. of Workers 2 1 4 2 1
OR /3Yar

Write any the merits and demerits of Arithmetic Mean.
TATR ATEY & I[0T U9 ¥ fAfQT |
Make Hlstogram of the following data and also draw frequency polygon from it.

fAEATATT 3Tehst @ 3T T Ud T Sg3]sf S0 |

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70
Number of 10 15 20 40 35 20 5
Students

Calculate Median from the following given data.

AFITI T ST g0 3rmehst § ATfCger A1 ST |

Wages less 100-200 [ 200-300 | 300-400 400 and
than above
100

No. of 40 80 50 20 10

Workers

Calculate Karl Pearson’s coefficient of correlation from the data given below-

AT 3iehs O el AITT & GeHFa=H 0TI Y IT0TAT Y —

X -SERIES | 12 15 18 21 24 27 30
Y- SERIES | 6 8 10 12 14 16 18
OR/ 31gdar

Calculate Spearman’s Rank Difference coefficient of correlation from the data given
below-

fAFITaf@d 3res 8 T HIfe 3R [ATY GaRT HeaFaeyy I[uTieh S A0TEAT Hi —

X 85 60 55 65 75 90

Y 60 48 49 50 55 62
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19

20

21

SECTION - B (Introductory Micro Economics)

A consumer is consuming two goods X and Y and is in equilibrium. The prices of X and Y
are Rs.4 and Rs.5 respectively and Marginal Utility of Good X is 20 utils. What will be the
Marginal Utility of Good Y if Marginal Utility of Money is 5? (Choose the correct alternative)
(a) 100 (b) 25 (c) 50 (d) 15
Teh 3TN a7 TEI3T X 3R Y T 3TH1ET Y T&T & 3R Teled H &1 X 3R Y T HAT Haer: 4
T2 3 5 799 § 3R aFq X H QAT TR 20 SHE Y| TE Y Y WA 3T AAT F2T
mqﬁﬂaﬁmmﬂ’lﬁmﬁ? (TET e & TTT )

(a) 100 (b) 25 (c) 50 (d) 15
“To increase the production of one good by 1 unit more and more units of the other good
have to be sacrificed since the resources are limited and are not equally efficient in the
production of both the goods”. In this case PPC will be:

(a) Concave to the origin (b) Convex to the origin (c) Straight Line (d) None of
above.

Teh TE o 3cdlcel H 1 SIS T Jeith el & TIU qERT a& T e & 31T geprsal &r
ST T USdT & FiTR Garee Tad § 3R Qxat TEGIHT & T H FATA T 8 AT AgT
&'l 39 3raTar ﬁmﬂmwwﬁaﬁm .
Hﬁﬂgﬁg%ﬁﬁm ) A Mg Fufd 3der  (c) MM @ (d) SRFT A FIS

Read the following statement.
I. There is an inverse relationship between price of a normal goods and its quantity demand.
II. When income of the consumer rises, demand for inferior goods fall.
II. Giffen goods are the exceptions to law of demand.
Which of above are correct?
(@)l &l (b) I, 1 &Il (c) 1, () I,
fArATalf@d wYe 1 gfeu]
|. ATATE TE T SIFAT 3 3T HIaT bl AT o ofrer faolieT daier grerm
Il. mwﬁw@rmaﬁ%ﬁaﬁmaﬁﬁﬁmmﬁaﬁﬁ%

111.FrheT T Hfar & {2 & 3r9are 1
SRIeReT 3 W A B T 82

(@l &l (b) I, 1 & 1lI (c) 1, 1 () I,

OR/31ar

A demand curve parallel to Y-axis will reflect
(a) Elastic demand (b) Perfectly elastic demand
(c) Perfectly inelastic demand (d) Inelastic demand
Y-318T & GATATAR Ueh AT dsh Iiafafad
(a) AFIGR AT ( ) I TRE A SlaeR Al
(c)g\ffms@r&ﬁ‘mqu AT (d) HiaT

Read the following statements carefully:

Statement 1 — When Marginal Revenue falls but remains positive, Total Revenue also falls.

Statement 2 — Marginal Revenue can never be zero.

In the light of the given statements, choose the correct alternative from the following:

(a) Statement 1 is true and statement 2 is false (b) Statement 1 is false and statement 2

is true

(c) Both statements 1 and 2 are true (d) Both statements 1 and 2 are false
FHYUAT I €ATA F T¢:

FUT 1- o9 BrATT 37T FRAT & U9 elTeAs WG & ol A 8 faRaT g |

HYsT 2 — AT TITH FT YT 181 gl |

T 31T HUSAT & 3Tl H, ﬁmﬁ@aﬁﬁuﬁﬁ*w T T hITIT:

(@) FUT 1 TIE IR FUT2 T & (b) YT 1 eI & IR PAT2 T &

c)HUA1 IR 2T TT & (d) UT 1 3R 2 ST 3T &
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24
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26

There are two statements given below, marked as Assertion (A) and Reason (R). Read
the statements and choose the correct option.

Assertion (A): When price of a good increases, demand for its substitute good rise.
Reason (R): Substitute goods are those goods which can be interchanged for use.

(a) Ais true but R is false. (b) Ais false but R is true.

( ) Both A and R are true and R explains (d) Both A and R are true but R does not explain

;hﬁa’rmﬁr%trm%ﬁ—éaﬁﬁaw?rm)aﬂ?w R) & &9 & Rifcsd fFar s &1 =t
ge 3R & [Ahed o1 T Y|

AR (A) : ST Tl aE T HIAT Fecll 8, Y SHT TATATToT qE] T AT TGl § |

PROT (R): TATATTeT TEY G TET & To1e€ STANT 3 o0 T 3 Feret off Fehell B

(a) ATcT § Re] R 38T ¥

(b) A 7T & afheT R T &1

(c) AR RN T g IR R, A Fr sarear axdr g

(d) A 3R R gl T & JfeheT R, A &1 T 18T T &1

From the set of statements given in Column | and column Il ,choose the correct pair of
statement :

Column | Columnli
A. Supply (1) A stock concept
B. Market Supply schedule (i) Supply schedule in the industry as a whole
C. Slope of supply Curve (i) Ratio between change in quantity supply and
price
D. Infinite Elasticity of Supply (iv)Vertical Straight line Supply Curve
Fierd | 3R e || 7 GT 70 ST & A F, HUaAT 1 T Sy i
hlelH | leld
A. ATId (1) Teh FCTeh TN
B. ST 31 eIl (ii) FHT T H 3T T YT {1
C. 3T dsh hT GelleT (iii) 3ITI =hT ATAT I SHIHT H TR T b ST T
3T
D. 39Id bl 3feld oIl (iv) STSdd HIET 3MYTd dsh

(a). A-(llI) ('b.) B-(ii) (c.) C- (iii) (d.) D-(iv)

What do you mean by homogenous product?

HHAEY 3cUTG U 3119 T ASIA &1 ?

There are two statements given below, marked as Assertion (A) and Reason (R). Read
the statements and choose the correct option.

Assertion (A): Total product will be highest when marginal product is zero.

Reason (R): When marginal product becomes negative, total product increases at
diminishing rate.

(a) Aistrue but R is false.

(b) Ais false but R is true.

(c) Both A and R are true and R explains A.

(d) Both A and R are true but R does not explain A.

oA & HYA U a0 §, foee AR (A) 3R FROT (R) & &9 & Rifeed foham o g1 et
g¢ 3R T [Ashed I Ig H|

3ARYT (A) : ST AT 3cUTE YT BIcll § T el Scule HTeAhdH i1 & |

HROT (R): ST TIATT 39T, FOMcHS gidT ¢, wma&ﬁaﬁm%l

(a) AFCT § T R 30T ¢ |

(b) AT g AfFT RET X |

(c) A 3R R &= @ § 3R R, A &7 sIrE&ar AT g

(d) A 3R R gl IcT & afeheT R, A &1 I 18T T &

Read the following statements carefully:
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28

29

Statement 1 — Budget line shows different point of combinations of two goods that a
consumer can buy given his income and price of both the goods.
Statement 2 —Any point beyond the budget line shows a non-attainable combination.
In the light of the given statements, choose the correct alternative from the following:

(a) Statement 1 is true and statement 2 is false (b) Statement 1 is false and statement 2

is true

(c) Both statements 1 and 2 are true (d) Both statements 1 and 2 are false
fAralaf@a Fu=t a1 eae & 9¢:
YT 1- Fofe IW@T &l 31T & HATSTe & Taffieet g3t o1 gl & foieg Teh Sueferdm 3rdeir
3 3R At TEGHT B HA P T g TG FhAT § |
FUT 2 —mWﬁﬁaﬁéSﬁ%’ Teh 37T HAToTeT ! SRITAT § |

ST 1T Y=t & 3Tl H, H & Fel [ahed &I I FIfAT:
(@) FAT 1 AT IR FUT2Td8 (b)) FUT 1 AT e IR FAT 2T &
(c) FYUT 1 IR 2 AT T & (d) ®YT 1 3R 2 QAT 3T &

Consider the following picture: -/ Td&F TJF 9T TddR Tl ?

Industry Firm (B)
o L2 s

E Pr ARIVR

s

o Quantity (million units) o Quantity (thousand units)

In which competition is the shape of AR and MR Curve found in the above picture?
IRed T # 3rad 3merH vd WA 3mTA gok foha gfaaifarar s gafar g 2

(A) Perfect Competition / quT Sfcrafarar (B) Monopoly / THhIf8IsR

(C) Oligopoly / 3eaTfEeR (D) None of above/ &I sTg1

Bring out the main points of difference between Positive and Normative Economics.
HhRIcHS R ATl A & oIel e o HE&T fog3it o gerer sifert |

OR/31yar
What is the likely impact of ‘Sarva Shiksha Abhiyan” and ‘Skill India Compaign’on PPC of
Indian economy?
AN IrIcTTELT & cUTGe] HATGSAT ash X "Hd TIGT 3ATeT 31X ‘shierer $R 1Tmer r
TATTIT THTT FAT § ?

Read the following passage carefully-
Firms must weigh the opportunity cost of producing one good versus another. A farmer
with farmland suited for both corn and soybeans must decide how much of each crop to
plant. As the price of soybean falls, more and more land will be used for plantation of
corns. QOil refiners will be guided by the relative price of fuel oil, gasoline, and kerosene oil
in deciding how much of each to refine. Higher price of fuel tends to lower the supply of
other refined oil products. Firms must compare today’s prices with those expected in the
future.
Answer the following questions based on above passage-

A- What are the various factors that determine the supply of a commodity?

B- If the price of soybean rises, what will happen to supply of corns?
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TAFATATE T ICATRA hl €T H TG U-

AT Y Teh a&d TATH GHY TE] & 3G I HAE AT Sl Jolell el =RV | o foharer
%wmﬁﬁmaﬁ%%mﬁﬁaﬁ% 38 UG aF AT 81T [ T el
$r Rrdel AT I AT TN & ARSI @m%ﬁm #r T & fov 310F F 30
mwmmmlmmﬁmm@ﬁﬁ F araeT
WW%WW%W&*ﬁ%ddWﬁWW%I%ﬂH 3 AT § 3T IRShd
éﬁmﬁaﬂqﬁwaaﬁﬁ%lmﬁ?ﬁaﬁrmﬁmﬁ TS & 3rufera HrAqr
#fasT & 38T Rl ¥ FE ART |

IR I & YR W AFATA T TRaAT o 30X GIfoie-
A- T8 ag Fr 3T T i S T deg FeTRT a9 &2
B- T FrTeeT Y PIAT Tt § A Ferhr BT It TR SHHT AT T G2

Calculate the Price Elasticity of Demand of commodity X if, with a rise in the price of
good-X from Rs.100 to Rs. 150, the quantity demanded falls by 50% and comment on it.
a&d X Y AT 1 P ST T IO FY, AR T -X T HIHAT H % 100 & & 150 T e &
'\EIT?IGN-CI Y AT Y AT 50% R ST & 33 39 oF feoqohy sy |

OR/3TYar
Explain the law of diminishing marginal utility with the help of a utility schedule and diagram

FTHATST WA 3TANTNAT fAgaT sl 3TN drferehr T @ [T ganT d#sSU|

From the following schedule find out the level of output at which the producer is in
equilibrium,
(use MR and MC approach) Give reasons for your answer.

fAFA TR 31TEE & (AT 3T Ud AT AT UTITH FT TN Feh) 3cTTee T TR

T FIT, fHE W 3cues Holel H § 3791 3t & eIt &ROT IfaTT |
Output MC TR
1 24 20
2 20 40
3 16 60
4 20 80
5 24 100

Explain the relationship between TPP and MPP with the help of a schedule and diagram by
keeping one input as constant.

Teh 9T T8 T@ehY el #ilfcish 3cure 3R AT $iifdeh 3cure & ALY Heer Y 3He]qh vd
Y@ T $r geradr @ EHeEd |

Answer the following questions:
fArATal@d et & 3 ST
a. Explain any three properties of indifference curve.

IITOHATT 9 &1 faheel et FAQYAT3TT T eareaT HIforT|

b. Differentiate between cardinal and ordinal Approach of utility
JIUTAT dTdeh U shel ardeh 39AITerdT € SehIuT H 3R SdTSU |
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34 How is equilibrium price of a commodity determined? Explain the role of govt. when market 2+
price is more and less than the equilibrium price. Explain with suitable examples 4

HJelel A &1 fFUROT F7 A §2? TR AT FT ool AT U S AT FA gl |
Wﬁrwmﬁaﬁ’m’r ? 3¢1e0T gfgd THSST |

OR/31Ydr
Answer the following questions :
fArfofaa geat & 3R difST 2+
(i) What are the points of difference between pure and Perfect competition. 4

JIC U o7 G aTeT #F T 37X 872 ool ofieT oht TUse HITSIT |
(ii) Explaln any four features of perfect competition.

T foheel TR HEY AATAT3T T Sool@ RITIAT |

****************************************W IE N D khkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk
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